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Question Number : 1 Question Id : 5953711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The Cultural Ministry of India has included ____in the list of classical dances that makes a total of 9

classical dance forms.
Options:
1. #= Lezim

2. * Nongkrem



3.+ Chhau

4. % Ghumar

Question Number : 2 Question Id : 5953712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The first major brutal mutiny erupted on 10th July 1806 in in the present-day Tamil Nadu
which lasted only for a day by the Indian sepoys in the East India Company.

Options :

1. # Madurai
2. ¥ Vellore

3. * Tirunelveli

4. # Kanchipuram

Question Number : 3 Question Id : 5953713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The range rises in Eastern Gujarat state running east through the border of Maharashtra

and Madhya Pradesh to the east till Chhattisgarh.
Options :

1. % Karakoram

2. ¥ Satpura

3. * Pir Panjal

4. % Aravalli

Question Number : 4 Question Id : 5953714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In which year was the National Payments Corporation of India (NPCI) incorporated under the

Payment and Settlement Systems Act, 20077
Options :
1. % 2012

2. % 2008



3. % 2018

4. # 2016

Question Number : 5 Question Id : 5953715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The provision for declaring breaking down of constitutional machinery in a state lies in which

Article of the Indian Constitution?
Options :

1. % Article 286

2. % Article 249

3. * Article 372

4. % Article 356

Question Number : 6 Question Id : 5953716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following is NOT one of the 9 Rasa of Classical Dance?
Options :

1. # Roudra

2. ¥ Adbhuta

3. ¥ Maharas

4. % Bibhatsa

Question Number : 7 Question Id : 5953717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Gandhi-Irwin Pact was a political agreement concluded by Mahatma Gandhi and Lord Irwin on

Options :
1. % 15th August 1932
2. ¥ 19th October 1947

3. * 5th April 1945



4.« 5th March 1931

Question Number : 8 Question Id : 5953718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In India, the term First War of Independence was first popularized by in his book," The

History of the War of Indian Independence."
Options :

1. * Ramachandra Guha

2. # R.K Narayan

3. ¥ Vinayak Damodar Savarkar

4. * \ikram Seth

Question Number : 9 Question Id : 5953719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following are the areas which are NOT suitable to grow aerobic rice?
Options :

1. * Upland areas and mid-upland where land is flat

2. ¥ Upper slopes or terraces in undulating areas

3. ¥ Marshy soil near the sea shores which can supply water all the time

4. * Deep soils, which can supply water to the crop between rainfall events

Question Number : 10 Question Id : 59537110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The Organisation for Economic Co-operation and Development (OECD) published its interim
Economic Outlook on March 9, 2021 which projected that the Indian economy will grow at the rate

of ___ in Financial Year 2022.
Options :

1. % 9.2%

2. % 10.3%

3. ¥ 12.6%



4. % 11.1%

Question Number : 11 Question Id : 59537111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Juvenile Justice Act, 2015 provides justice to the victims of heinous crimes by including the

provisionfor___ year-olds to be tried like adults.
Options :

1. % 14t0 16

2.¥16t0 18

3. % 18t0 20

4. * 19 to 21

Question Number : 12 Question Id : 59537112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The Ministry of Human Resource Development formed a Committee chaired by for

preparing the National Education Policy in June 2017 and submitted its report on May 31, 2019.
Options :

1. ¢ Dr K. Kasturirangan

2. # R. Subrahmanyam

3. ¥ Ramesh Pokhriyal 'Nishank

4. # Sanjay Shamrao Dhotre

Question Number : 13 Question Id : 59537113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

On December 21, which two planets will meet in a “great conjunction,” the closest they could be

seen in the sky together for nearly 800 year?
Options :

1. Jupiter and Saturn

2. * Mercury and Venus

3. ¥ Jupiter and Venus



4. # Mars and Jupiter

Question Number : 14 Question Id : 59537114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who became the first batter in the Indian Premier League (IPL) history to score 1000 runs against

a single team in an IPL match?
Options :

1. * Hardik Pandya

2. * Virat Kohli

3. ¥ Rohit Sharma

4. * Ishan Kishan

Question Number : 15 Question Id : 59537115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

According to Education Minister of Andhra Pradesh, Adimulapu Suresh, International Bank for
Reconstruction and Development (IBRD) has sanctioned funds of Rs to implementation of

SALT programme.
Options :

1. % 1732 crore
2. * 1999 crore
3.+ 1,860 crore

4. % 2130 crore

Question Number : 16 Question Id : 59537116 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
is the study of fruit, specifically the science of growing fruit and nuts.
Options :
1. * Bryology
2. ¥ Mycology

3. ¥ Pteridology



4. ¥ Pomology

Question Number : 17 Question Id : 59537117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who became one among the top global players to be accredited with the Google as Cloud Partner

with specialization in the data and analytics space?
Options :

1. % Larsen and Toubro Limited

2. ¥ Infosys

3. ¥ Tech Mahindra

4. * Reliance Inc.

Question Number : 18 Question Id : 59537118 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

At the 2021 World Wrestling Championships, which Indian wrestler created history as she became
the first Indian women finalist at the World Championship and also the first female player from

India to claim a silver medal?
Options :

1. ¥ Geeta Phogat

2. ¥ Anshu Malik

3. # Sakshi Malik

4. * Babita Phogat

Question Number : 19 Question Id : 59537119 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who smashed the world record in the final to win gold in the men’s 50 m rifle 3 positions event at

the ISSF Junior World Championships in Lima, Peru in October 21?
Options :
1. % Aishwary Pratap Singh Tomar

2. % Abhinav Bindra



3. ¥ Manu Bhaker

4. #® Rituraj Singh

Question Number : 20 Question Id : 59537120 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The state government of the Andhra Pradesh has decided to set up “India’s first government-run

ambulance network” for in March 2021.
Options :

1. % Differently abled people

2. % Women

3. * Senior citizens

4. % Animals
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Question Number : 21 Question Id : 59537121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Four segments in the sentence have been underlined. Identify the one which is NOT correct.

She always says the first thing that come into her head.

Options :
1. * always
2. #® says
3. ¥ come

4. * into

Question Number : 22 Question Id : 59537122 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Fill in the blank with the most appropriate phrase.

My father used to walk so fast that it was impossible formeto___ with him.
Options :

1. # keep away

2. * keep off

3. ¥ keep up

4. * keep on

Question Number : 23 Question Id : 59537123 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The following sentence has been split into four segments. Identify the segment that contains a

grammatical error.

The higher / we go, / the coolest / we feel.
Options:

1. # The higher

2. ¥ we go,

3. ¥ the coolest

4. % we feel.



Question Number : 24 Question Id : 59537124 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The following sentence has been split into four segments. Identify the segment that contains a

grammatical error.

When learning to swim, / one of the / most important things / is to relax.
Options :

1. ¥ When learning to swim,

2. * one of the

3. ¥ most important things

4, % isto relax.

Question Number : 25 Question Id : 59537125 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

The true worth of man_____ upon his action, deed and thought.
Options:

1. % depends

2. # lies

3. * revolves

4, % gathers

Question Number : 26 Question Id : 59537126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Four statements are given, labelled A, B, C and D. Among these, three statements are in logical
order and form a coherent paragraph. From the given options, select the option that does NOT fit

into the theme of the passage.

A) Religious harmony is very essential globally.



B) Any disagreement is disastrous.
C) Individuals feel protected with this arrangement.

D) Equal prestige to all leads to a good society for mankind.
Options :

1. % A

2.¥B

3.% C

4. % D

Question Number : 27 Question Id : 59537127 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Four statements are given, labelled A, B, C and D. Among these, three statements are in logical
order and form a coherent paragraph. From the given options, select the option that does NOT fit

into the theme of the passage.

A) Income and income tax are normally coined together.
B) Political economy is an old term in use.
C) More earnings result in higher slab of liability.

D) India allows progressive system of taxation.
Options :

1. % A

2.¥ B

3.% C

4. % D

Question Number : 28 Question Id : 59537128 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

Worldwide, culturally significant sites are by UNESCO.

Options :



1. ¢ enlisted
2. ¥ processed
3. # excluded

4, ¥ expelled

Question Number : 29 Question Id : 59537129 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

Global warming has been responsible forthe __ of canaries in the Arctic.
Options:

1. " extinction

2. % flourishing

3. * widening

4. % diversion

Question Number : 30 Question Id : 59537130 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate ANTONYM of the given word.

Persist
Options :
1. # Desist
2. % Detach
3. ¥ Attach

4. % Release

Question Number : 31 Question Id : 59537131 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate SYNONYM of the given word.



Craftsman
Options:

1. * Imitator
2. % Lender
3. ¥ Tenet

4. % Artisan

Question Number : 32 Question Id

Question Mandatory : No

: 59537132 Question Type : MCQ Option Shuffling : Yes Is

Select the most appropriate meaning of the given idiom.

To rise like a phoenix

Options :

1. To start afresh from a low position.

2. ¥ To Fly like a phoenix
3. ¥ To begin a fresh talk

4. * To help somebody

Question Number : 33 Question Id

Question Mandatory : No

: 59537133 Question Type : MCQ Option Shuffling : Yes Is

Select the option that can be used as a one-word substitute for the given group of words.

One who is more than a hundred years old.

Options :

1. % Agrarian

2. ¥ Centenarian
3. ¥ Octogenarian

4. *# nonagenarian

Question Number : 34 Question Id

: 59537134 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Select the option that can be used as a one-word substitute for the given group of words.

One who knows everything.
Options :

1. % Omniscient

2. % Omnipresent

3. * Omnipotent

4. % Informant

Question Number : 35 Question Id : 59537135 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the option that can be used as a one-word substitute for the given group of words.

One who is sympathetic to mankind.
Options :

1. ¥ Humanitarian

2. % Generous

3. * Philanthropic

4. # Civilized

Sub-Section Number : 2
Sub-Section Id : 5953713
Question Shuffling Allowed : Yes

Question Id : 59537136 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (36 to 40)

Read the following passage carefully and answer the given questions.

The constitution of a country, including India, is usually, framed by the people through their

elected representatives. The Indian Constitution, framed by the Constituent Assembly as



established through the Cabinet Mission Plan of 1946, practically, represented all sections of the
Indian people, though it was not formally an elected one. The Indian National Congress
demanded a constituent assembly in the Faizpur session of the Congress in 1937, reiterating later
in 1939 and in its Ramgarh session in 1940. The British government accepted the demand for a
constituent assembly in August, 1940 offer by Viceroy Linlithgow. The Crips Plan of 1942 promised
such an assembly only after the World War II while the Cabinet Mission plan of 1946
recommended a constituent assembly to frame the Constitution. This plan sent by the British
Government to India, recommended a constitution -making body for India to frame the

constitution.

Sub questions

Question Number : 36 Question Id : 59537137 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

How is a constitution made as mentioned in the passage?
Options :

1. * By the people of a country

2. ¥ By the people through elected representatives

3. # By adult franchise

4. # By the representatives of particular community

Question Number : 37 Question Id : 59537138 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Why does Cabinet Mission Plan of 1946 stand significant?
Options :

1. % It was sent by the British Government

2. * It was jointly made by British and Indians.

3. ¢ It represented all sections of Indian society.

4. # Tt assured Indians of their independence.

Question Number : 38 Question Id : 59537139 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



What is the meaning of the word ‘reiterate’ used in the passage?
Options:

1. ¥ recapitulate

2. ¥ agitate

3. # revolt

4. ® resurge

Question Number : 39 Question Id : 59537140 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who recommended the constitution-making body?
Options :

1. ® Viceroy Linlithgow

2. # The Indian National Congress

3. ¢ Cabinet Mission Plan in 1946

4. % The Crips Plan

Question Number : 40 Question Id : 59537141 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

What was the drawback of Constituent Assembly after Cabinet Mission Plan of 19467
Options :

1. # There were only British Members.

2. # Particular communities were given representation.

3. ®¥ There was no proper procedure.

4. # It was not a formally elected body.

Reasoning
SectionId : 5953713
Section Number : 3

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 5953714
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59537142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select the option that is related to the third word in the same way as the second word is related to the first word.

Cygnet : Swan :: Larva : ?
Options :

1.« Insect

2. % Colt

3 % Caterpillar

4 % Nymph

Question Number : 42 Question Id : 59537143 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Which of the answer figures is the exact water image of the given problem figure?

¥ 8
I
%
%
L3




Question Number : 43 Question Id : 59537144 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Choose the CORRECT mirror image from the following options, when the mirror is placed on the line MN.




Question Number : 44 Question Id : 59537145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Which of the following figures complete the pattern of the given figure? (Rotation is allowed)

Options :

\A



%

N\

Question Number : 45 Question Id : 59537146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Following are the criteria to recruit a Staff Manager in a company.

Required qualifications for Staff Manager:

(1) Bachelor’s degree from an accredited institution with minimum 75% aggregate marks.
(i) Maximum age of 40 years on 3 May 2021.

(111) At least 5 years of experience in managing staff in a government recognised company.
(iv) Fluent in English and Hindi.

If a candidate satisties all the aforementioned criteria, EXCEPT:

a)  at(i)above, but has completed Master’s degree with mininmm 65% aggregate marks, his/her case is to be
referred to the HR.

b)  at(ii) above, but he/she has a 7 years of work experience in the field of management, his'her case is to be
referred to the CEO.

Consider the defails of a candidate and select one of the following courses of action based on the information
provided and the conditions and sub-conditions given above,

Eshan, who graduated with aggregate marks of 75% in BSc and 70% in MBA, has turned 35 vears on | January 2021.
He has work experience in the field of management for 4 vears. He is fluent in English and Hindi along with the local
language of his province.

Options :
1. # The candidate is to be selected.
2. % The case is to be referred to the HR.

3. % The case is to be referred to the CEO.

4. + The candidate is not to be selected.



Question Number : 46 Question Id : 59537147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select a figure that is similar to the figure given below in a certain manner.

Options :

Ve

1%
S,
2. ¢
O
Q
3, %
/:)Q
\
4, %

Question Number : 47 Question Id : 59537148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select the figure that is different than the rest in some manner.



Options :

&

OQ.
6" =
%
N
3, % z?'
%
>
L%

Question Number : 48 Question Id : 59537149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

In a batch of certain grade, there are 30 girls whose aggregate English marks are above 75%. If these constitute two-

third of the girls and the total number of girls is three-fourths of the total number of students in the class, what is the
number of boys in the class?



Options :

1. ¢ 15

2 % 18

Question Number : 49 Question Id : 59537150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select a suitable figure from the answer figures which would replace the question mark (?).

Options :

1. %

2. %



4.

Question Number : 50 Question Id : 59537151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

If in a certain coding language ‘BROAD' is written as ‘DBOAR’, and ‘BLOCK’ is written as ‘KBOCL', then how will

‘CHAIN’ be written in that coding language?

Options :
1. ® NCAHI
2.« NCAIH

3. % NHACI

4. ® NCHAI

Question Number : 51 Question Id : 59537152 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Choose from the following four options, the conclusion's which logically follows from the given statement.

Statement: The Turkish community is going to organize its cultural program tomorrow, so you be better prepared to

spend a handsome amount of money on charity.
Conclusions:
. Turkey has a beautiful culture that reflects its early influence of the middle Eastern and European cultures.

2. Turkish cultural programs involve a lot of charity work
Options :

1 = Only conclusion I follows

5> « Only conclusion II follows

3. % Either I or IT follows

4. % DBothI and II follows

Question Number : 52 Question Id : 59537153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Given below are 2 statements and 2 conclusions. Take the statements to be true even if they are at variance with

commonly known facts and decide whether the conclusion/s follow from the given statements.
Statements:
1. All plastics are fibers
2. Some fibers are metals
Conclusions:
[ Some plastics are metals

I All metals are plastics
Options:

1 % Only conclusion I follows



5> % Only conclusion II follows

3. % Both the conclusions follow

4. + Neither conclusion I nor IT follow

Question Number : 53 Question Id : 59537154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select the option that is related to the third word in the same way as the second word is related to the first word.

Telescope : Galileo Galilei :: Telephone : ?
Options:
1 % Kirkpatrick Macmillan

2 % Nikola Tesla

3.« Graham Bell

4. % Robert William Thomson

Question Number : 54 Question Id : 59537155 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
When the unfolded box, having letter on each side, as shown in the figure, will be folded, which of the following box

will NOT be obtained? (Rotated versions of the letters acceptable)

D

Options :



B D
1.4
D
B A
2. %
B
A |D
3. %
D
F
A
4, ®

Question Number : 55 Question Id : 59537156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Five electric pylons P1, P2, P3, P4 and P35, all facing north and situated in such a way that P5 is right of P1 and P2 is
left of P4 and right of P5. P1 is the right of P3. Which of the following electric pylon is in middle?

Options:
1. % Pl

3. % P4

4.« PS5

Question Number : 56 Question Id : 59537157 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

How many numbers of triangle are there in the following figure?

A\

N/
N A

Options :
1. % 16

2. % 17

Question Number : 57 Question Id : 59537158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
X is the father of Y and son of Z. S is the father of T and son of U. O is the paternal grandmother of S and wife of .

The mother of X is L who is also the paternal aunt of S. How is Z related to P?
Options:

1.+ Son in law

2. % Son

3. # Cousin

4 % Nephew



Question Number : 58 Question Id : 59537159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

What should come in place of question mark (?) in the following number series?

4, 28, 168, 840, 3360, ?
Options:
1. % 8080
2 % 9090

3 v 10080

4 % 12060

Question Number : 59 Question Id : 59537160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select a suitable figure from the answer figures which would replace the question mark (?).

- = —
~ - — — )
— | A2~ | &=~ .
| fi [
Options :
—
~ 7)’




#.,-'-"
~ =
|
3. % =
__,.-"
4, &

Question Number : 60 Question Id : 59537161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Given below are three statements and three conclusions. Take the statements to be true even if they are at variance with commonly
known facts and decide whether the conclusion/s follow the given statement,

Statements: 1. Some cables are marbles
. Some marbles are pearls
[11. Some pearls are stones

Conclusions: I. Some stones are cables
II. Some pearls are cables
I11. Some stones are marbles
IV. Some stones are either cables or marbles.

Options :

1. % Conclusions I and II follow.

2. % Conclusions IT and III follow.



3 % Only conclusion I follows.

4. + WNone of the conclusions follow.



